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37350 / ENGLISH

1-Read the passage carefully and answer the questions given below (1x5=5)
The Monsoon
What causes the monsoon? The monsoon, which is essentially the seasonal reversal in wind direction, causes

most of the rainfall received in India and some other parts of the world. The primary cause of monsoons is
the difference between annual temperature trends over land and sea. The apparent position of the Sun with
reference to the Earth oscillates from the Tropic of Cancer to the Tropic of Capricorn. Thus, the low-pressure
region created by solar heating also changes latitude.
1. What is the primary cause of monsoons?

(a) Difference between annual temperature trends over land and sea

(b) Difference between day and night temperature

(c) Moisture in the atmosphere

(d) None of these
2. What is the full form of ITCZ?

(a) Intertrance Convergence Zone (b) Intertropical Convergence Zone

(c) Intertropical Capricorn Zone (d) Intertropical Conveyance Zone




3. Low pressure region is created by
(a) solar heating- (b) lunar cooling
(c) moist wind- (d) dry wind
4. 1t rains when
(a) moist wind goes down
(b) dry wind meets moist wind
(c) the air can no longer hold moisture resulting in precipitation
(d) annual temperature goes down
5. What is the major effect of the monsoon?
(a) It causes droughts
(b) It causes floods
(c) It brings most of the rainfall received in India and some other parts of the world

(d) It has no significant effect on the climate.

2-fill in the blank using 'A’' ",An’ or 'The’- 0.5x4=2
a- The cat rank all.................... milk.

C- He IS e, European.
d- Mahesh is.................. shortest boy in ................... class.

3- Pick out the verbs and write whether they are transitive or intransitive- 0.5x4=2
a- Aman grew very fast.

b- Hemant broke the glass.

c- Deepak ate the food quickly.

d- Father gave me a beautiful gift.

4-Use simple present and present continuous tense form of the verb to complete the sentences-1x4=4

a - The SNOW....ovveeereeeeee (fall)on the mountains.

b- The world cup .....covveeiiie, (take) place every four years.

C= MY SISTEI .o, (love) to keep pets.

Lo B OO RO RORR RO (go) for a walk now.

5- Write a short paragraph on anyone topic given below - (3)

(i) Republic Day celebration (ihYoga (ili)lmportance of trees in our life




6-write a letter to your friend inviting him to your brother’'s marriage.

IOTT / MATHEMATICS

Section A: Short Answer Questions

ST A: TY S UY

1. Find the ratio.  3fIUTd Td HIFoI.
(a) 15kg and 1800gm (b) ¥4 and 350 paise

(1X10=10)

2.15/8 & 4 guq {7 forRau |

Write 4 equivalent fractions of 15/8.

3. Fuffed # s seTg -

Which of the following is bigger —
(a) = 3R 2 (b) 2= 3R =
10 5 25 10

4. 540 kg ®1 2.7 FFifeT |
Divide 540 kg in 2:7.

5. T2 5/9 o1 U1 waded e fafae, foem -

Write an equivalent fraction of fraction 5/9 such that;

(a) 31 60 ﬁ numerator is 60 (b) @X 54 Eﬁ denominator is 54




6. Find the prime factors of —
YIS UHEE JTd DI -
(a) 770 (b) 143

7. Find the H.C.F. and L.C.M. of 148,96.
148 3R 96 &1 9.9. Td ., J1d B3|

8. Ekta earns Rs.1,65,000 in 65 days. How much she will earn in 30 days?
T&dl 65 fa & To 1,65,000 3T Bl § | 98 30 fa H fordm To sifsta w¥f

9. Identify variable, constant and coefficient in the following.
frafafad O =R, SRR SR oM &I ugaH |
(@) 2m + 9 (b) -3t-8

10. If the perimeter of a square is 200cm, then what will be the measurement of its side?

g feft a7l 1 ufvmm 200em 1, It Yo &t A fea-t gt 2

Section B: Long Answer Questions SHIT B: ?ﬂﬁﬁﬁq Uy (2X5=10)

11. T ool fashel 52 fobeft wfesral our & forw aman| fa & ofd #, 36 42 fohon wfsorat oeff| 39
aT fohat Afesral fom faes o<t 62
A vegetable vendor brought 5% kg vegetables to sell. At the end of the day, he sold 4§ kg

vegetables. How much vegetables is left with him unsold?

12. What are Prime numbers, Composite numbers and Co-prime numbers? Give
examples.

3UTST TRATY, HTo TRATY 3R 8- 3HTST T T &2 IETeRT STy




13. Find the greatest number that divides 259 and 465, leaving the remainder 4 and 6 respectively.

I8 oA TSI -1 J1d BT Y 259 3R 465 DY TIHTRIT B TR HHT: 4 3R 6 ATHA <l § |

14. In exchange of a square plot of side 96 m, a man wants to acquire a rectangular plot, which Is 180
m long and of the same area as that of the square plot. Find the breadth of the rectangular plot.

96 Hiex YT dT1dl TH THR YES & 9ad H Ue Aiad U ATNDHR YT Ul BT drgdl &, Sif 180
Hiex e 3R TER YIS & 8% d & UM ¢ | STIAHR TS B dIels J1d BT |

15. A milkman has 750 liter of milk. Of this, he supplies 30% to a hotel, 35% to a sweet shop and sells
the remaining milk at his dairy. Find the quantity of milk he sells at his dairy.

UH UAT & U 750 Itr g 81 39H § I8 30% U Blcd P, 35% U HST5 BI b B! wTs Hdl &
3R T Y 3T ST W STl 81 I8 T ST WR fbdT gY S B, T Bifor|

fa3I1 / SCIENCE

MULTIPLE CHOICE QUESTION (1x5=5)
EREETRRE]
(1.) What do we get from rice?
T o B o fuerar g ?
(a) Carbohydrates wmEteEge (b) Proteins W=
(c) Vitamins feerfim (d) All of the above 3w @t

(2.) Which part of banana is eaten?
el T eh 9 AT W WTAT AT § ?

(a) Flower %at (b) Fruit w1
(c) Stem @=r (d) Root sr®




(3.) What is called opaque?
UREYt R Ed € ?
(a) Substances through which sunlight cannot pass 5 areif & & 1 JehreT O 72 &1 weha
(b) Through which objects cannot be seen & g a&q=Al i <@ el ST e
(c) Both (a) and (b) (a) = (b) gt
(d) None of the above =ig=t
(4.) What kind of change is the conversion of ice into water?

Tt T UTHT § TEeAT HET IRt 82
(a) Physical change «ifaes ufteds (b) Chemical change tamfie ftada
(c) Rapid change s afada (d) None of them 4 & =15 71
(5.) Roots absorb from the soil.
SERCEIR:] TN AT 8 |
(a) Water and minerals (b) Gases
(c) Both (a) and (b) (d) None of the above.
(a) urt st @l (b)
(c) (a) 3 (b) 3t (d) 3 & =1E 7=
True/ False (1x5=5)
T | AT
(i) Deficiency diseases can be prevented by eating a balanced diet. ( )

HCTA HATER WTEHT ST UM ShT TR ATH hl AT kel ¢ |

(ii) Atmosphere is not necessary for life on earth. ( )
gt w Sfte o forg argree stavas T R |

(iii) Air pollution is causing climate change. ( )

ATY TEUUT TAATG TR S 0T I T 2

(iv) Fossil fuels are made from the remains of dead plants and animals. ( )
ey $er T utelt o ugTei 3 Tavret & e F

(v) White blood cells act as soldiers of the body. ( )

& Th hHITITERTE IR & Gfent 3 &9 & w1 STt 21
Fill in the blanks - (1x5=5)
fiee wormt Y ufet Hifrg -

(1.) The deficiency of vitamin C causes a disease called
feratfim C s srvmar & AH AT |

(2.) The motion of a child on a swing is

et o ot wrser sy i [aigd

(3.) The substances which are attracted towards a magnet are called

WA uaTel Yareh <t ST RN Bl & oF HEATI 2|




(4.) The layer of air surrounding the earth is called

goft 3 ORI 31 Y Ay H wwa HEATAT 2|
(5.) The process of converting water vapour into water is called

AT 1 Tl H URATId i o Teh i HEd Bl

Answer the following questions: (1x5=5)

fretefaa wat F s Afo

(1.) Name the main nutrients in food.
IS o T 4T qedi o 17 Jarsy

(2.) What are the functions of roots in plants?

Grert § ST o Tl FAT P

(3.) Tell the sources of air pollution.

T TGHUT o T st |

(4.) Tell any two properties of a magnet.

Tk o i3 &1 T[0T TAT3T?

(5.) Write the names of the components of blood.

iR & Ueeht o A forfag ?




ATHT U / GENERAL STUDIES
Tl IR BT IY- DI - 5x0.5=2.5

Select the correct answer -
Q.1). &% T8 (Asteroid) fhd FHemsfi & S UL I & -
(WM AR gewid  (b) WA U gl GECECRIED (d) 9ot Td wTe
Asteroids are found between which orbits?
(a) Saturn and Jupiter (b) Mars and Jupiter (c) Mercury and Venus  (d) Earth and Mars
Q.2). ITH JHT HT & §- & a4 FAdH 31 fait g 2
(a) 25 T (b) 21 TS GREE:L] (d). 30 T8

What is the minimum age to be a member of Gram Sabha?

(a) 25 years (b) 21 years (c) 18 years (d). 30 years
Q.3). Higolica! by el & fobR S gam or 2
(a) T e (b) &= Tt (c) <t =Tl (d) FormTe 1t
On which river was Mohenjodaro situated?
(a) Sutlaj River (b) Indus River (c) Ravi River (d) Chenab River
Q.4) ®IF Tt Tdd 2RI TR UG G BT ST Hal § 2
(a) TS (b) fgTETT (c) bt (d) IS

Which mountain range separates Asia and Europe?

(a) Andes (b) Himalaya (c) Rocky (d) Ural

Q.5) TER P YIRE U I IAH BT 1Y DI HRAT & -
OREILE (b) TR | (c) IRUA (d) Tt

Who does the work of running the city smoothly —

(a) Panchayat (b) Municipal Corporation (c) Sarpanch  (d) All of these
RESEIBIEI R 4x0.5=2
Fill in the blanks :

O35 M 4 -1 [ — TR A IRAE |

Narmada river falls into the ------------------ ocean.

Q.7). G2t BT TG TTET U oo URIid AENFR A fRa § |

The deepest part of the earth ... They are located in the Pacific Ocean.
O):) [ —— 7] &l Ifid HEThT ¢ |




Q.9). A T F8 YT BV oo BEd Y |

Large landowners in Tamil ......cccccoccvecunnene. | used to say,
Frfafad Y= °§ 9 9 3R 39 Id138- 3x1=3
State true and false fom the following statements-
Q.10). §5 NI TH SUCRI IRATS T ¢ & HRUI U OFTE BT dgd e s | ( )
This place holds great importance as Buddha gave his first sermon at Sarnath.
Q.11). TSI & faaR SRR A\ [ & [TRd ML § | ( )
Chandragupta 's thoughts are written in the book Arthashastra.
Q.12). TEHAGR, USRI & BT BT FARIE0 PRaAT 5 | ( )
Tehsildar supervises the work of Patwari.
Q.13). Frafafea gl o1 fam sifo- 1x1=1
Match the following pairs -

A. gRETm - |. BYGY BT ERIRY B

B. ATUTHE - |I. HEThId DIcTar

C. it - III. TG BT SRR Did

D. I fgdiia (1) - IV. qebRME-11 BT R} B

A. Harishena - I. Harshavardhana's court poet

B. Banabhatta - [l. Mahakavi Kalidasa

C. Ravikirti - [ll. The court poet of Samudragupta

D. Chandragupta (I1) - IV. The court poet of Pulakeshin-II
Y I UY- 3x0.5=1.5

Short Answer Questions —
Q.14). AARA F AT Uch DT - DTS ?

What are the three components of a map?

Q.15). &t & et U8 o HeI a1 g ?

Why is the Earth called the Blue Planet ?

Q.16). HRd &I fbam wifaes Hml & favnfora far <1 e § 2 377 4 o |

In how many physical parts can India be divided? Name them.




Q.17). Who is known as the "Father of Indian Hockey"?

YRA & "Giob! o fUdT" & ¥ H fodl ST STl 672

a) Baichung Bhutia ST Hfcdm b) Mohun Bagan Hg-1 &

) Neville D'Souza ﬁﬁ?{@'ﬁ\?ﬂ d) Major Dhyan Chand AR M 9g
Q.18). When is International Yoga Day celebrated every year?

TR TS SIRTPT AT fead e 1T Sl &7

a) 5th December 5 fG¥aR b) 21st June 21 SH

) 15th August 15 3Td d) 1st January 1 EECR|

Q.19). Who was the first Indian to travel into space?
WY H I HRA ITa Ugdl R DI UT?
a) Rakesh Sharma BRI T b) Kalpana Chawla & cU-T dldcll

¢) Sunita Williams gritdT faferaey d) Vikram Sarabhai fas®h# IRIHTS
Q.20). Where is the Red Fort located?

SISAENIETIARCES
a) Delhi faeett b) Agra 3TIRT
¢) Mumbai Haé d) Jaipur SIgYR
Q.21). Which is the longest river in India?
YRA P! oY Tell el D Al 82
a) Yamuna g1 b) Ganga 7Tl
¢) Brahmaputra sigT4yad d) Godavari Tigrast

Q.22). Which is the largest state in India by area?
HRd HT 99 I5T T 14 I1 g &Fhd & fggre T2
a) Maharashtra HEIRTY b) Uttar Pradesh IR TS
¢) Rajasthan XTSI d) Madhya Pradesh T G
Q.23). Who is known as the "Missile Man of India"?
YRA & TS 39" & ¥ § fosdl ST STl 57
a) Vikram Sarabhai ]%WJZIH'RT“-I'I'Sc b) A.P.J. Abdul Kalam Q.tﬁ.@f. Sfog el hellH
c) C. N. R. Rao Hl. T, 3R. 3@ d) Homi J. Bhabha BIHT O, HTHT

Q.24). Which of the following is a communication device?
Frafafaa & & 17 91 U HaR IuaRv 37
a. ®IAIS (Keyboard)  b. I8! (CD)
c. AlfFex (Monitor) d. ﬂﬁ?ﬁqﬁq (Microphone)




Q.25). Which of the following controls the computer hardware? 1

Frafafaa & Q $i9 duger gredwR o e swar g2

a. BTS &% (Hard Disk) b. G (CPU)
c. HI3Y (Mouse) d. piaS (Keyboard)
Q.26). What you need to do to open MY Computer? 1

MY Computer &I Tld- & 1T 3TIDHT T BT gNT?
a. Click left mouse button at My Computer icon.
b. Click right mouse button at My Computer icon.

c. Double Click left mouse button at My Computer icon.

a. My Computer 3%+ UR 910 AISY dd J fadd Bl
b. My Computer 3T3dh TR GI¢ AT3Y e I fadd H1|
c. My Computer 31§ R d10 AI3Y - ¥ 89 fdid di|

----SPACE FOR ROUGH WORK----




